Seat No. Enrolment No.:

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination

Subject Code: C310501 Date: 08- 06-2015
Subject Name: Physical, Analytical and Inorganic Chemistry
Time: 02:30 PM TO 04:00 PM Total Marks: 70
Instructions:
1. Attempt all questions.
2. Make suitable assumption wherever necessary.
3. Each question is of 1 mark.
4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5. English version is authentic.
No. Question Text and Option. U# Wal [Ascl.
For a first order reactionC—product, if ty, = 13.86min., thenK = .................. min”.
LA 005 B. 05
C. 5 D. 50
yausHo{lylsauCollusmiz, s, = 13.8606e, AK = ................. ML
LA 005 B. 0.5
C. 5 D. 50
If concentration of reactant is made twice, then the rate of reaction becomes ........ .
2. A. Half B. Twice
C. Equal D. Constant
RSUBase{luigdiotHrlls ctHizud, Qs aot............... AL
2. A ysAl B. @R[N
C.  ¥ul D.  aun
If concentration of reactant is made half, then the rate of reaction becomes ......... .
3. A. Half B. Twice
C. Equal D. Constant
Susasellaisciustll sauHi, AYBaoL............. L.
3. A ysul B. el
C. wxu D.  uun
Which unit is used for time for a fast reaction?
4. A. Day B.  Second
C. Year D. Hour
»sUl ylsaul W2 UHAsl 52 AsH cduRlA B?
X, A (Ran B. A5S
C. oy D.  sas
On increasing temperature the rate of a reaction ......... .
5. A. Increases B. Decreases
C. Remains constant D. Remains same
AlUHlel gLl l;l@s Aloll AN .o .
W A dll® B.  u2®
C. wyn WD D. et % ®
When .....coooevviviiiiiiiiiiins then rate of reaction = K.
6. A. Order of reaction is zero B.  Order of reaction is two
C. Order of reaction is one D. None of these
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9.

10.

0.

11.

9.

12.

.

13.

3.

TS &R yBa Aol = K.

A ysH g 8l B.  ysuada

C.  ysu As da D.  Qsgualils

Which of the following is not used to determine rate of a reaction?

A. Reaction temperature B.  Specific rate constant

C. Reaction concentration D. None of these

ylsaell Aol lual oflAsttHiell 9 otell aund?

Ayl diuiet B. (Al QoL munis

C.  yBau dacl D.  Qsugetd

t,, = 0.693/K is an equation for ............. order reaction.

A. First B.  Second

C. Zero D.  Third

ty, = 0.693/K A .oovee. sHoll Ylsal M2 Alsw B.

A yan B. (gl

C. e D. qdla

If a reaction takes place in more than one step, then the .................. step is the rate
determing step.

A. Fast B.  Very Fast

C. Slow D. Slowest

ol 81 ylsal As sl AU dotssRUHl adl 8, Al ................ dotsstell
y(Satell Aot atssl 831 astaL

Ay B. yol 335Ul

C. dl Do el o1y

For......... molecular reaction, molecularity and order of the reaction is same.
A. Mono C. tri

B. Bi D.  mono and bi

......... URAA YlBal 1R, wRAAA wa Y5l YsH AL Sl B.
A s C. @

B. (& D. s ua &

The entropy ......cccceeeuveeeneen. when ice melts.

A. Remains same B.  Decreases

C. Increases D. Remains constant
oRgUlblRIRARLMU .................. ®.

A ARu(lRé B. e

C. dad D, wun:é

Always for an adiabatic process for an ideal gas .................. )

A. q=0 B. w=0

C. AH=0 D. AT=0

wle dagHizulBysaauagial .............. :

A. q=0 B. w=0

C. AH=0 D. AT=0

Which of the following is the mathematical form of first law of thermodynamics?
A, AU=q-w B. w=AU-q

C. AU=q+P, D. Aq+w=AU

ol Asttell 53 GwaAautetl ya @ameg ouldla 3u 82

A, AU=q-w B. w=AU-q
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14.

Y.

15.

Q.

16.

6.

17.

9.

18.

.

19.

c.

20.

R0.

C. AU=q+P, D. Aq+w=AU
Which type of property is this - when property of a system depends on its quantity?

A. Intensive property B.  Extensive property

C. Thermal property D.  Physical property

youelloll oatul ueldotl el GUR URd B, Wl dutul sl detud sdau?
A, (Al o B, yuoueds oo

C. G o D.  clllQs ojatud

For a heat reaction occurring in nature ....................... .

A. Temperature is always zero B Temperature is always high

C. Temperature is always low D.  Temperature is any range

SEAML Al GuL YlBaAl HE2 e .

A ERAll dluMlel Yo Sl B, éRau diudiet B1y sl

C. gl dlurtet o3 8l D, diuniet slunl sHej sl

Under which condition A H= A U + P A Vrelation is correct for a closed system?

A. Constant temperature B.  Constant pressure

C. Constant temperature, pressure D.  Constant temperature and pressure
and both

oltl youell 1 58 URBRAQAHL AH=AU+P A Voll oltl dLA 58l asta?

Al AAO dlUHR B.  uun gwd

C. A dAlUMlet, gollal A old Do aan dtuHlet et s€
A

Entropy of which one decreases?

A. On making aqueous solution of  B.  On vaporization of water
salt

C. Dry ice kept in open container D.  Melting of ice

WHL Ao\l U2 B?
A, lsle] clla alanl eletladl B.  welle] oisui 3uidr

C. oyl Wl Y3A Y8l olRs D.  wrsqj Uoing

Which of the following phenomenon is endothermic?

A. Addition of electron in aneutral B. Removal of electron form a neutral
atom atom

C. Formation of chemical bond D. Addition of electron in orbit

At Hil 58 Ueall Guilns B?
A derd WRHMIQHL SAsRet elid B derel wrnguidl gAsgletal weol
s2cll s2cll

C. uals ciu-Anigell ueet D.  sauui gAsgletal GRRall
On which system there is no effect of temperature and pressure?

A.  Open system B.  Closed system

C. Isolated system D.  None of these

565 YRUEAL UR cdltunloto{l Aol eodliloll ¥R51R06{l AR Ul o1l?

A yedl yeuel B. ol yeuel

C. [@Rull you D. 0 Ugl As uwl «1(8
Which of the following fuction shows measure of disorderness?

A.  Enthalpy B.  Enthalpy

C. Free energy D. Work

o(lActu el 53 (AR wcaucRale] MU e2ld B?
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21.

1.

22.

2.

23.

3.

24.

R¥.

25.

QU.

26.

R6S.

27.

V.

A Aol B. Q1
C. Ysct QL D. g

According to which law of thermodynamics — “The Gibbs free energy of the system
decreases for all spontaneous process.”?

A.  Zeroth law of thermodynamics B.  First law of thermodynamics

C. Second law of thermodynamics ~ D.  Third law of thermodynamics

Gulolfdaustell sal am Yosol — “oltlles 2atie) Ysaull 12 yeuw@sll allext
Ysc Gl ue 8.7
A Guqllausel ot Rad B Guqaifdaustell yuH [Qax

C. Gwldauael Bdla @an D GualQaustel ddla [[am
Which type of property is density?

A. Intensive property B.  Extensive property
C.  Thermal property D.  Physical property
dotcll sl Yslell ojuu 82

A, (a@e o B.  yuoueds oo
C. G oud D.  allds opatusd
The flame of a burner is an example of ................... type of system.
A. Open B.  Closed

C. [Isolated D. None of these
ololRe{lo0AA ... ysRellyeucleiGelsad.

A yeedl B.  olu

C. [ D. Asugeils
.................. is an example of a specific property.

A. Internal energy B.  Density

C.  Enthalpy D.  Free energy
.................. AlAQreojuiuo{Gele0QB.

A udRsG B, detcll

C. Al D. ysd@ust

The inverse of viscosity is called ................... .

A.  Fluidity B.  Surface tension
C. Refractive index D.  Vapour pressure
ReltotcllallcRcda. ... 588,

Ao agetelled B.  ywdwl

C. aflaasis D.  ausueaal
...................... is used to find the surface tension of a liquid.

A.  Stalagmometer B.  Viscometer

C. Refractometer D. Conductometer.
YAUElY DS AR CUMIR. ... AURAD.

A rasle? B.  [Qs1dle?

C. Rysaler D.  gssa@e?
.................... is used to find the refractive index of a liquid.

A. Stalagmometer B.  Viscometer

C. Refractometer D.  Conductometer.
YaAlElol Sl AAIS NUAHIR. ... ALURAUD.
Ao Al B.  [(asldler

4/11



28.

RC.

29.

RC.

30.

30.

31.

31.

32.

3R.

33.

33.

34.

3%.

35.

C. RysaMe? D.  §ssal@e?

The mixture of water and oil is a ..................... mixture.

A. Homogeneous B.  Heterogeneous

C. Homogeneous and D.  None of these
Heterogeneous

well wal Acte] ABRL A ... RETERY

Ao oL B.  [awuiol

C. ol wa @Quniat D.  Qguolils

.................... is used to find the viscosity of a liquid.

A. Stalagmometer B.  Viscometer

C. Refractometer D.  Conductometer.

yYallgloll Raleotcll QUAHR......oeeeeereeeeae, AURAD

A rAamle? B, (Qsi{le?

C. RysaMe? D.  §ssal@e?

The ratio of velocity of light in liquid to that of velocity of light in air is called

A.  Surface tension B.  Viscosity

C. Refractive index D.  Conductivity

Yl ystatell QoL ual el Yslatetl Adlell JBldRa

A ywdlal B.  Raltetdl

C.  aslades D. agetelladl

................... surface/s of a liquid is/are free.

A1 B. 2

C. 3 D. 4

yaglell ................ AW Y5 sl B.

A1 B. 2

C. 3 D. 4

Liquid ......cccvvenneeene non-compressibility.

A. Possesses B.  does not possess

C. A and B both D. none of these

yatdl seotolladl ................ :

A, ypA ® B. uRUcld ool

C. Aua Boia D.  QAsupe?

The unit of rate of a reaction is ..................... .

A. Mole/litre.second B.  Mole/second

C. Mole/litre D. Molar

YBadoAsH. ..., 8.

A Qa/@erAsS B.  Qa/ass

C. /e D. Qar

For a second order reaction A = B, Reaction rate oc [A]", n = .................. .

A. 0 B. 1

cC. 2 D. 3

BllasHe{lulzaua - BHER, UlB1Q0lc [AT, N = oo .

A 0 B. 1

C. 2 D. 3

Iflp......... Ksp, the reaction will occur spontaneously.

A = B. <

cC. > D. None of these
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34,

36.

36.

37.

39.

38.

3¢.

39.

40.

¥0.

41.

¥.

42.

Alp......... Ksp,cll Ulsall AU .
A = B. <

c. > D. el As uel o8l

In the mixture of aqueous solution of CH;COOH and CH3;COONa, due to common ion
effect concentration of which ion decreases?

A. CH;COO B. Na'

C. OH D. H

CH;COOH and CH;COONasill %c{lal slalQloll (SQUHL UMl Bl2lel ARl
5120 sl AlAotoll Ulscl U B?

A.  CH;COO B. Na

C. OH D. H

Which of the following Acid-Base titration does not give accurate value?
A.  Strong acid and Strong base B.  Weak acid and Weak base
C. Strong acid and Weak base D. Weak acid and Strong base

o(lAsttHtell 53 NRS-AS P WofHIUsal AssU (B1HA vUg otell?
A yol ARS WA Rl Ay B Qe AARs ua [Qeln Agx

C. yon AR v Aol Ay D (oo AR ual youn A
For a sparingly soluble salt Mg(OH),, what is equal to Ksp?

A, 4S° B. §°

c. 278 D. 108S°
WCUGLCRL &llR Mg(OH),HI2, KsptlRAGR 9 aUll?
A. 483 B. §°

c. 278 D. 108S°

—_—

Which of the following salt is an acidic salt?

A. CH;COONa B. NH4CI

C. HCOONH4 D. NaCl

ol Aol s e ARGs B2

A. CH3;COONa B. NH4CI

C. HCOONH4 D. NaCl

Which of the following chromatography is not there?

A.  Thin Layer Chromatography B.  Paper chromatography
C.  Gas Chromatography D.  Vapour chromatography
ol Al 56 s\n2usl otell?

A Yldy dR slA2lougl B. gloim slA2lousgl

C. iy sndousl D. g sinaausl

The reaction in which transfer of electron takes place from one reactant to another
reactant is called ......... reaction.

A. Oxidation B.  Reduction

C. Redox D.  Sublimation

% YBaHl sAsetl QlHasll Bau As uBsasAdl ollst ulsasHi wa Aaq
......... ylsal 5@ 8.

A A3 B.  Jssaet

C. W& D @Gedutdet

In inorganic qualitative analysis, for the detection of group-III (A) before adding
NH4OH to original solution, ......... is added.

A. NHyCI B. NH4NO;

C. Hd D. H,S
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¥R.

43.

¥3.

44,

¥Y¥.

45.

¥U.

46.

¥S.

47.

¥9.

48.

¥C.

49.

usllBls oJalels YausswL, UM I (A)oll URW M@ NH,OHGARAL UL

HOU ALARQWML ... GHRAHL WA 8.

A.  NH4CI B.  NH4NO;
C. HCl D. HsS

The heat of adsorption for ......... is about — 20 kJ.mole™.

A.  Physical adsorption

adsorption

......... H2 (D0l GBHL — 20 kJ.mole'®.
B.

A dllds w@elvel

C. allds AN wa D

AARUQS A@20NEL

The process of removal of adsorbed molecules from the surface is called ......... .

A. Adsorption
C. Desorption

B.
C.  Physical and Chemical D.

Chemical adsorption
None of these

SHO(RERMPENNE
Ll Asul o8l

AW Rl utfla®d w2 g2 sclall (Bala ... 58 9.

AT D ENRNTE
Co yualve

Which of the following mixture is not possible for colloidal solution?

A.  Solid-Solid
C. Liquid-Gas

sclldd 12 o{lAtHiedll 53 AL asel otell?

A Yot-Uel
C. yadl-ay

Which of the following is a reversible colloid?

A. Lyophobic colloid
C. Lyophilic colloid

Al AotHtdll s ulQadl sl 82
A s sdle
C. qa@s scdle

Miscelleis a/an ......... colloid.
A. Multimolecular colloid
C. Macromolecular colloid

RAA A ... scllet ®.
A ogu@a sclla
C. (QReeau@a sdlad

B.  Absorption

D.  Sorption

B aelmel

D. sllwa

B.  Solid-Liquid
D. Gas-QGas

B.  yo-yauidl

D cy-auy

B. Colloid

D. A.andB.

B.  scllad

D. A uaB.

B. Associated colloid
D. Simple

B, do@dd sl
D. el

Which of the following methods is used to get colloid of ice in chloroform or ether?

A.  Excessive cooling B.  Exchange of solvents

C. Reduction D. Oxidation

ARSI Wl SUHL WRgell sl Radal HER s utdld auRi 87
Ao Qe slrel B glasell [QlHaall

C. Jlsset D. Qa3

......... is used to prepare colloidal sol of gold.
B.

A. Mechanical dispersion

Electrical dispersion
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50.

vo.

51.

ua.

52.

u.

53.

u3.

54.

uy.

55.

e

56.

us.

C. Peptization D.  Purification of colloid

Aloiloll sldHd AA ... Yeel(Qoll oletlaleHi 11 8.
S CERCRE B (agdla @Q@uet
C.  Aresw D sclladq] 9l&s0a

The process of removal of dissolved impurities in colloid from a semi-permeable
membrane is called ......... .

A. Dialysis B.  Ultrafiltration

C.  Ultracentrifugation D. Distillation

sAlldami ¥ alcal WYERAM £ sl Aol wduRopa uselHiedll uurR
scllo{l 3lda ... 58 0.

A yrRreA&L B, ycuzc@atet

C. ucgAPlgydlalet D [wigat

Which of the following is the example of oil in water type of emulsion?
A. Cold cream B.  Butter

C. Milk D. Cod liver oil
(Al 53] GeleW AcHl welle] way 8?2

A gles sl B quwe

C.  gu D. g5 ([Qar da

......... 1s not the use of colloid.

A. Rubber plating B.  Sewage disposal

C. For preparing fertilizer D. In medicines

......... A scllctall Gualat otell.

A R0R WARaL B. Yoo (sl

C. Ul wellelel D earui

For redox reaction method, ......... electrode is not used as reference electrode.
A. Calomel electrode B.  Quinhydrone electrode
C. Glass electrode D. Hydrogen electrode
Rl ylsal ueuld M, ... gAsals A deol Yo d3 cupA 12l
A 3AHA Yo € sQatelgQlet Yo

B siuell ya D sQlet Yo
pH+pOH=......... .

A. 0 B. 7

C. 14 D. 28
pH+pOH=......... .

A 0 B. 7

C. 14 D. 28

Which of the following is correct for electrical conductance?

A. R=VA B. G=KxA/l

C. G=AIl D. R=pxl/A

Attt cttss 1R (At 53f W3 &?

A. R=VA B. G=KxA/l

C. G=Al D. R=pxl/A

What is used to get accurate value of pH of an aqueous solution?

A. pH paper B.  Litmus paper

C. pH meter D.  Universal indicator

scllal aladel pHoj AssU YeU Andal g duRjNA B?
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57.

9.

58.

uc.

59.

ue.

60.

SO.

61.

SAq.

62.

SR.

63.

S3.

A pHSLLNL B.  [@Qexy QuR

C. pH e D 2oRQa yus
Kohlrausch’s law is useful for ......... electrolytes.

A. Strong B.  Strong and Weak
C. Weak D. Neutral
slecRA2lell [AauH ... @Qgcf@Qeura 2 GuAll 8.

A Yo B, yun ua Qddn
C. Qda D dewy

The cell in which electrical energy is converted into chemical energy is called a/an

A.  Electrolyticcell B.  Electrochemical cell
C. Electricalcell D. Half-cell

% SIMHL AAUAQS Al [Qgdalsami 3uidel aad da ... 5& ®.
A (Agdfeusst sin B, (QgdRiua@s siy
C. (Agd sy Do utd-sly

pH of pure water is ......... .

A 0 B. 7

C. 14 D. 28

g WRllell pH......... .

A. 0 B. 7

C. 14 D. 28

Which of the following terms does not depend on temperature?

A, %wlv B.  Molarity

C. Normality D. Molality
(LAt 53 UE cAlUHlol UR AUR Ard otel?

A. % W/ A% B. )_nc,u[%él

C AqQui@dl D. AQeau@dl

If mole-fraction of one component is 0.8, then mole-fraction of other component
present in the solution is .......... .

A. 0.8 B. 04

C. 02 D. 0.1

Al Sl s desoll HA-vi2l 0.8, Al alaRH 8L oflost Uesall HlA-vial ........ 0.
A. 0.8 B. 04

C. 0.2 D. 0.1

30 ppm CaCO3; means 30 ......... CaCoOs.

A. mole B. gm/l

C. molar D. mgl

30 ppm CaCO;A2QA 30 ......... CaCO:s.

To prepare primary standard solution the amount of impurity should not be increased
more than ......... .

A, 0.05-0.1% B.  0.01-0.5%

C. 1-5% D. 10%

Ylamls Yl slalll olotiatall M2 AeYERe] yHIaL ......... sl dud s o8l
A, 0.05-0.1% B. 0.01-0.5%
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64.

S¥.

65.

SU.

66.

SS.

67.

SO.

68.

SC.

69.

70.

90.

C. 1-5% D. 10%
Which indicator is used for titrating strong acid against strong base?

A.  Phenolphthalein B.  Methyl orange
C. Phenolphthalein  or Methyl D. Phenolphthalein and Methyl orange
orange
glollcsAcllat B Raugd xRy
C. 4lallesdcllot vl Aasd D glollesdcllot ual R W26y
W R06e%
......... is a pungent smelling substance.
A. Caustic soda B.  Ammonia
C.  Sulphuric acid D.  Potassium dichromate
......... A dlg artainl ueld 8.
slRRs Alst B.anikau
C. uYRs ARs D, Qreau sigslne
......... is known as king of chemicals.
A.  Caustic soda B.  Ammonia
C.  Sulphuric acid D.  Potassium dichromate
......... A RULABLAL AL 58 D.
A glRes Alsl B.ynian
C uEyRs ARs D, QRean sigs1ne
The formula of caustic soda is ......... .
A. NaOH B. Na2C03
C. NaHCO; D. NH;
slkes Aslef YA ......... 8.
A. NaOH B. N212CO3
C. NaHCO; D. NH;
......... is called oleum.
A.  Fuming sulphuric acid B.  Dilute sulphuric acid
C.  Concentrated sulphuric acid D.  Sulphuric acid

...... A QM 53 B.
A yuaMiel WYRs AR B. e ua@&yRs AR

C s uGYRs ARs Do u@ylRs ARs
Potassium dichromate is used in ......... titration

A. Acid-Base B. Redox

C.  Precipitation D. Complexometric
WeeaH stgslne ... WojHIUAHL AU 8,

A ARS-ASR B. 2

C.  ugduet D. HQQi

Cautic soda is obtained by ......... .

A.  Electrolytic cell B.  Electrochemical cell
C. Electrical cell D. Half-cell

slRes Ast ... werl(dell sottan 8.

A (AQgdfeusst sin B, (QgdRiua@s sy
C. (agd sy D utd-sly
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